®
I EC CERTIFIED
———0)

SAFETY US-CA

E479833

PCV UVM1 RAL 7035

NO SS 60°C -20°C 600 -15C
® w M @ 00

IEC 61537 UNE 60695 IEC 61537 EN 50085

IEC 61537
EN 50085 EN 50085

1,
~0-
I'U'K‘ l 2?’ Teax] ezl o] ikor]! A
EEEEE E 5
u ISO/TR 10358

Mod. 60x100 & 60x150 10J 0000
IEC 50102 DIN 8061

IEC 61537 T
EN 50085 IEC 60529

=
_—

TBPE CPBPE TCPBPE CCBPE TCCBPE

{

TCXBPE PDBPE TFBPE PSBPE
-/
.,’ ,_&?f I' Filling Area LI
k’ l%;:\f%il, : & ' B H60 (23/8") H100 (47)
mm inch cm? in? cm? in?
JUBPE JUBPE-A JUBPE-B
100 § 52 8,06
5. Ea 150 6" 80 124 - -
| / ((- ¥ = 20 8 01 151 15 2
i . = d
5 - 300 12 152 236 263 408
400 16" - - 354 548
JUBPE-C BIK10-BPE cTBP
600 2 - - 539 83,9
c-01 103




Basor

BasorPLAST 3€EBasor BasorPLAST 3€Basor

AAAAAAAAAAAAAAAAA

BPE BPE
H B (H R s 9
BPE H60 o g P — ; - ITFQ : B CPBPE mm inch  mm ich mm  inch  mm inch i Jﬂm
BPE 60X100 B0 23F T0 & 2000 MM 3 ., S CPBPEGOX100 60 23/8" 100 4 220 83/4" 80 31/8” 210089 2U
BPE 60K150 0 cve w0 ¢ ENEE AT oL _ CPBPEGOXIS0 60 23/8” 150 6 220 83/4' 80 31/8” 210090 2U -
BPE 60X200 o v 0 o B daogd 197 ” M\ CPBPEGOX200 60 23/8" 200 8 220 83/4" 80 31/8” 210091 2U
BPE 60X300 0 238 w0 17 o3 om Uoolg ] ; CPBPEGOX300 60 23/8" 300 12° 220 83/4" 80 31/8™ 210092 2U o
B _ =T CPBPE100X200 100 4 200 8 220 83/4' 80 31/8” 210093 2U
F =~ & 2xJUBPE 60 (210084) + 4/100 CTPB (210017) boed ]Hﬂ CPBPET00X300 100 4' 300 12° 220 83/4" 80 31/8™ 210094 2U 1.
L=3m(10f) Uepd CPBPE100X400 100 4 400 16' 220 83/4' 80 31/8” 210095 2U HEO
CPBPET00X600 100 4' 600 24' 240 91/2' 100 4" 210096 2U ®
PrEETe o = P /s e -
BPE-C 60X100 60 23/8" 100 4 210062 24M
BPE-C 60X150 60 23/8 150 & 210063 24M gﬂf /
BPE-C 60X200 60 23/8" 200 & 210064 12M ” |
BPE-C 60X300 60 23/8 300 12 210065 12M )
= 2 x JUBPE 60 (210084) + 4/100 CTPB (210017) T i 5 ]
L=3m(10ft) w T Jﬂﬂ H100
BPE H100 H B IFH ~ TCPBPE B ¢
mm inch mm inch mm inch mm inch
BPE 100X200 10 4 200 & 210074 T2m T s N TCPBPE 100 100 4 220 834" 210097 1U . .
‘N\\ ~ BPE100X300 100 4 300 12 210075 6M ﬂLjﬁng[jm k j TCPBPE 150 150 6 220 83/4 210098 1U
\ ~ BPE100X400 100 4 400 16" 210076 6M Laoogd | PH- TCPBPE 200 200 & 220 834 210093 1V )
BPE 100X600 100 4 600 24 210077 6M K’Lmlﬂg TCPBPE 300 300 12 220 834" 210100 1U
N 7 # 2XIUBPEI00 (210085 + 8/100 CTPB (210017) @ ::ﬂﬁ\ . T — TCPBPE 400 40 16" 220 834 210101 1U
B=4001X JUBPE-C (218797) + 4/100 CTPB (210017) UUHUU o TCPBPE 600 600 o 20 912" 210102 1U
LImiom \ FTCPBPEB]OO—4OO FTCPBPEB6OO h
BPE-C H100 H J {F =3
mm inch mm inch
BPE-C 100X200 00 4 20 8 210066 12M B - CCBPE H B ¢ R <
\ BPE-C 100X300 100 4 300 12 210067 6M | ak; M T T s T _— E
S BPEC100Y400 w ¢ 00 v R LY CCBPE6OXI00 60 23/8" 100 4 240 91/2' 100 4 210103 2U
\ BPE.C 100X600 w o o 2 B . CCBPE6OXIS0 60 23/8" 150 6 240 91/2' 100 4 210104 2U  °
o Y g L & CCBPE6OX200 60 23/8" 200 8 240 91/2' 100 4 210105 2U
B o O e e oy L N : W 4 CCPEGOX300 60 23/8" 300 17 240 91/Z 100 4 210106 2U g
L-3m0fy * Aﬁf’ CCBPE100X200 100 4 200 8 215 11" 115 45/8 210100 2U :ﬂ: H
g CCBPET00X300 100 4 300 12 275 11" 115 45/8' 210108 2U
TBPE 8 - CCBPE100X400 100 4' 400 16° 275 1" 115 45/8' 210109 1U H60
o neh CCBPE100XG00 100 4 600 24 215 1 15 458" 20000 10 .«
TBPE 100 100 4 210078 24M ;Cl
w5 oo [ B/ 2uerecoanny « 4lo0 cres moor) U
TBPE 200 200 8 210080 24M
TBPE 300 300 12 210081 18M
TBPE 400 400 16° 210082 12M :
TBPE 600 600 24' 210083 12M
L=3m{i0M \ F- TBPE B100-400 FTBPE B600 ‘ )
H100

104 c-o1 c-01

Basor



Basor

BasorPLAST 3€EBasor BasorPLAST 3€Basor

AAAAAAAAAAAAAAAAA

BPE BPE
TCCBPE ’ PDBPE
mm inch ®
TCCBPE 60X100 00 4 20m U PDBFE 60 i { 07 % g
TCCBPE 60X150 150 & 210112 1U PDBFE 100 e L%
| TCCBPE 60X200 200 8" 21013 1u 1x PDBPE 60 + 2/100 CTBP (210017) " "
TCCBPE 60X300 300 127 2014 1U 1x PDBPE 100 + 4/100 CTPB (210017) ‘ e ‘ o
' TCCBPE 100X200 200 8 2015 1U i Sl 155@ | —
TCCBPE 100X300 300 127 20016 1U
TCCBPE 100X400 400 16 2000 1U HG0 H100
TCCBPE 100X600 600 24" 210118 1U
\ F-TCCBPE B100-400 FTCCBPE 600 TFBPE H B
mm inch mm inch H60 259
TFBPE 60X100 60 238 100 4 223023 2U I [g g [ 2
CXBPE H B ¢ R I TFBPE 60X150 60 23/8° 150 & 223024 2U B %
Sy K TFBPE 60X200 60 238 200 & 223025 U
CBPEGOXIOD 60 23/8" 100 4 240 91/ 100 4 21019 20 FBPE 6OX300 o 2o w0 v B 2510
CXBPEGOX150 60 23/8” 150 6 240 91/2' 100 4 210120 2U - TFBPE 100X200 w ¢ m o Bk : } } %C‘J
CXBPEGOX200 60 23/8 200 §& 240 91/2' 100 4 210121 2U G| ,, = | =k
CXBPEGOX300 60 23/8” 300 12 240 91/2 100 4" 210122 2U - 1::132223 132 i 223 12 i;gg;g ;E 125
CXBPE100X200 100 4' 200 & 275 11" 115 458" 210123 2U . FBPE 100X600 w ¢ o o ETCIER
: CXBPE100X300 100 4' 300 12 275 11" 115 458" 210124 2U
l CXBPE100X400 100 4" 400 16" 215 11" 115 45/8 210125 1U HB0 1x TFBPE H60 + 2/100 CTBP (210017)
CXBPE100X600 100 4 600 24° 215 11" 115 458 210126 2U 1x TFBPE HI00 + 4/100 CTPB (210017)
B /e e oo e moon) - PSBPE o T
¢ H PSBPE 60 60 23/8° 210144 30M =
— PSBPE 100 100 4 210145 30M
|
) 4/100 CTBP (210017)
[
H100 Y R
TCXBPE B pEN——
mm inch
TCXBPE 60X100 00 4 200127 1U
- TCXBPE 60X150 150 6 210128 11U
'__.--'/ TCXBPE 60X200 200 § 210129 1U JUBPE H
TCXBPE 60X300 300 127 210130 1U - inch
| TCXBPE 100X200 200 & 2100131 1U JUBPE 60 60 238" 210084 10U
TCXBPE 100X300 300 127 210132 1U ° i JUBPE 100 100 4 21008 10U
TCXBPE 100X400 400 16 210133 1U : 2 x JUBPE 60 » 4/100 CTBP (210017) BPIJU 60
TCXBPE 100X600 800 24" 210134 1U ‘ 2 x JUBPE 100 » 8/100 CTBP (210017)

\ 25%9

\ F-TCXBPE B100-400 FTCXBPE 600W gf

H-26
5
AG
o
37
—

BPIJU 100

106 c-o1 c-01

Basor



PLAST

asorPLAST 3€Basor

CABLE TRAY SPECIALIST

asorPLAST 3€Basor

BPE BPE CABLE TRAY SPECIALIST
JUBPE-C | umness |
|| oo |
JUBPE-C 400-600 218191 71U 9
4 CTA kg (Ib) [ 1.
4100 x CTBP (210017) ComE WE mE W ee 60
- = % u
- Z 40 166 (366) 105 (231) 125 (216) 291 (642) 207 (456) 148 (326)
SHG Pl
\ 1
60°C 113 (249) 95 (209) 120 (264) 178 (392) 160 (353) 113 (249)
JUBPE-AB ! B v |
mm inch Deg REF m R HS NU (, 60°C  -20°C _‘"_
Kit JUBPE-AB 60 32 23/8 +/-90 223613 10U 5 (())_K + ({I‘M I'U'K‘I
Kit JUBPE-AB 100 63 11/4" +/-90 223614 10U 5 v e 61537 R
7 o 2 x JUBPE-A » 8/100 CTBP (210017) JUBPE-A
I
« j :
CTA kg (Ib) [ 1.
¥ ComE ®E WE W em s
1 R | -
B 40 166 (366) 105(231) 125(216) 291(642) 207 (456) 148 (326)
PSHG 1y .
JUBPE-B : ‘ 60°C 113 (249) 95(209) 120 (264) 178 (392) 160 (353) 113(249)
i\ ¥ 60 -200C N
o 8 - RoHS flﬂr(@ il
| v - | OK " Lok
\ d 1 | = } . - } IEC 61537 Eﬁ’.’éﬁs 110353
, . ¢ —_— "
s Click -
II | E X2
[l & _
| o CTA kg (Ib) = Comw mE WE W e s
f I - ~ J
x4 iz : } } S
: Gk - 2 . |t I
/ = VG 400 312 (687) 262 (577) 213 (469) M (@379) 162 (358) T1(170)
. 60°C -20°C N
BIK10-BPE c on Rois M0 ([ 26
mm HxB REF M0Q T + % 0K
BIK10-BPE 60X100 15 60x100 217340 10U 5 e o187 O Bost
BIK10-BPE 60X150 15 60x150 a0 ] =
: BIK10-BPE 60/100x200 1,5 60X200 & 100X200 217342 10U D:DH
BIK10-BPE 60/100X300 1,5 60X300 & 100X300 217343 10U
BIK10-BPE 100X400 2 100X400 217345 10U
BIK10-BPE 100X600 2 100X600 211346 10U
L ey
1K10
IEI f 3 x BIK1I0-BPE =>1x TBPE
CTBP
= CTBP-100
( [
(} e ®
-
108 c-01 c-01 109




Basor

BasorPLAST 3€EBasor BasorPLAST 3€Basor

BPE . SRR sPE o SSRRRN
SHG B a0el) 00l PSHG
mm inch CTA (kg) CTA (Ib) CTA (kg) CTA (Ib) 21w
5
SHG100 100 4 166 366 113 249 210011  8U :\Léﬁﬁ I PSHG 2M 211281 12M 8 -
@ SHG150 150 6" 105 231 95 209 210012 8U = _ 1
" \.\\ SHG 200 200 o 1% 276 120 10 210013 " :T:ﬂs%’ y o SHG 100~300 ---> PSHG 1x CT2 M10x100 (207228-i304) | gﬁ 3
= \“\\ » SHG 300 300 12" 291 642 178 392 210014 4 U 58x9 SHG 400~600 ---> PSHG 2 x CT2 M10x100 (207228'|304) S
Ve i — <
/ SHG400 400 16" 207 456 160 353 210015 2U 8 {E — Lol
» I T ST
SHG600 600 24" 148 326 113 243 210016 2U = &
BPE ---> SHG: 2/100 x CTBP (210017) SHG100 L o
r@_‘ B+65 |
Nt
81\ f Q
[ajamm E ps H G R 11 [0]
13x9 _/ 58x9 19x11 e Jopes
= = = % ‘ PSHGR 600 217283 2U . “I
= TFSHGRPVC (212112) g . °
SHE150 SHG200 SHGE300 SHG 4007600 PSHGR ---> KSHGR 4/100 x B2 (205392-i304) °© o
SHG 100~300 ---> PSHGR 1x CT2 M10x100 (207228-i304) ° L
25
SVG B CTA 40° 8425 SHG 400~600 ---> PSHGR 2 x CT2 M10x100 (207228-i304) ;{
mm inch kg Ib { Ji L8 ]
SVG 100 100 4 312 687 210050 1U “7 E i: PSHGR
SVG 150 150 6" 262 577 210051 11U 8167 }
|
SVG 200 200 8 213 469 210052 1U Mo oo go u |
SVG 300 300 127 M 319 210053 1U o o odo 9 | :
SVG 400 400 16" 162 358 210054 1U % 159 oo ~,
SVG 600 600 24 T 10 210055 1U TFSHGR SHGR+TFSHGR
BPE ---> SVG: 2/100 x CTBP (210017) CT2 Pap 1304

N'm REF MOQ M10x100 DIN931

M10 DIN6923

CT2 M10X100 15 201228 50U @é:ﬁ N
10 .

17

KSHGR 2 100 m i304
40x11f Bz
d | (i M e oo 5
KSHGR ERE il @£1 B2-100 15 205392 1U @[
PSHGR --> KSHGR 4/100 x B2 (205392-1304) -2 o E, 13 020 ‘ 15
SHG 100~300 ---> KSHGR 1x CT2 M10X100 (207228-304) M: Eﬂ a m e
SHG 400~600 ---> KSHGR 2 xCT2 MI0X100 (207228-i304) b -'

110 _c-o1 c-o1 1]

Basor



